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Simasg edamssEsh Flurs LHaurdl 2 ETeTST 6T LIS e E
sAurisgé Qsrarara)b. dFsLLS 6D Gopl@Lde A@Ds
samaraiiurariiLb o Langurss 0sflelésaw.

(2) Bevib Sb@g SMHLIY awulaner L HCL erWsIUsHE LWaTLHSS
GeuamHd. LILEEET aUmreIgHELD, 2llq &G HEUSHED QuieTéle
LweTU(HESeLD.

SleyenrssT : (1)

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

L@&S - 1/PART -1

SeTSE NTESEHEGED eflenwafi&sa]Ld. 15x1=15

—
=
S—

GmILY :
() QarBésrIL(ereT IHD) AeLsefled BEa D FHLELIL efepL_enwid
Copes0ssiE GO HLan e wlemend Cardgl er(PSeLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer. |
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1. gramsaear galléGCarémase L GG LLaUESsLUEDL Giw gefluier

S|OTEY

(1) 2-9% (<=b)2-8% (@) 2-10% (/) 3-10%

Solar energy used by green plants for photosynthesis is only :

(@ 2-9% (b) 2-8% © 2-10% d) 3-10%

2. sapm  : Srrhoridey greurs GCrrComGar e le Goom il wi fled

TTTAGGG eramp Bl sefCure L Qgri auflens eGaomblweny
&S D).

SITeID : @ e hauréssdnE Aravl_féaver erammGLmbluyéefGuen

ergid Qprd 2 sa dlng). (leCaomblwir)

(1) Fnpmy seun Sryesid &

(<) enpmi &, smyewrd 2FHE sflwrar eflardsmEDd

(@) empm &, srrewwid sEmhnésrear Ffwrear ebenssw6e

(rF) &mbmI wHOID STrewTDd @rarBb Seumn

Assertion (A) : Arabidopsis plant chromosomes have more repeats of TTTAGGG
nucleotide sequences in the telomeres.

Reason (R) : Restriction endonuclease enzyme is used in the formation of such a
nucleotide sequence. (Telomeres)

(@) (A) is incorrect, (R) is correct.

(b) (A) is correct, (R) is the correct explanation of (A).
(c) - (A) is correct, (R) is the incorrect explanation of (A).
(d) (A) and (R) are wrong.

3.  Gflu gellldmhg oag adlmowurear Qsrd sodasaild @) mbs Wensyb
swrilésiiu@geler GHUNGL 5568 S 1b erg) ?
(<) gnieno Gowur® Qewed &b (CDM)
(<) @GearrGrme.yGerrCrm smiruien (CFC)
() sremefléeiulL 2 10pa) @epliy (CER)
() sBlPErH YSw srd eueriliydLid (TAP)

Which one of the activities is replacement of conventional electrification projects with
solar panels or other energy efficient boilers ?

(@) Clean Development Mechanism (CDM)

(b)  Chloro Fluoro Carbon (CEC)

(c) Certified Emission Reduction (CER)

(d) Tamil Nadu Afforestation Project (TAP)
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Spsesan arhy Cairey Qewigd apeppwirans el(BHLSSES LIHUTHEmETS
Qarain graugslamans Gup s srab @y eh ?

(=1) pse Cairey (<) sl BS Csiey wperm

(@) s auflens Garay () Qubers Csiey

Which one of the following selection method takes longer time in bringing about desired
variation ?

(a) Clonal selection (b) Mass selection

(c) Pure line selection (d) Natural selection

Grrenwl 2 (Haur&GL Cammlelen Qsrassafe @alQumésd ey
2 6L LonE 6Tbs Sreurid o eTerng) ?

(=) aCasrafiwr &rreduen

(<=4,) Gevemrmestm swomym

(8) yGrremenv O LiGeammym

(/) urigSelwid ablevigCrmGumryen

Which creates a breeding habitat for disease causing mosquito Anopheles ?

(a) Eichhornia crassipes
(b) Lantana camara
(c)  Prosopis juliflora

(d) Parthenium hysterophorus

2 e gamenio HMID L& erdiiiygsearenn Qaream <fs Qs

(<=1) Qe Aped raid () SIGLmALr -2
(8) GLe_ 9N cuans (/) Gumreafly <yfd
Name the rice variety with saline tolerance and pest resistance.
(@) Wild-type rice (b) Atomita - 2

() Dwarf rice variety (d) Golden rice

[ l®mLIys / Turn over
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7. &flwren @eareaws CsibolsH&Ese]Lb.

(21) @fleo Hlag greurd - uallducen 18g eurpuamel
(<) anreori( - LaTefld sralU@D QLTEs Hi
(&) &flevavmi( ' - greupisEREE LWETLLTS B
() er&apmi® - sreuphisEnéeE LwauGD BT

Pick out the correct pair :
Plants living in ice surface

(a) Oxylophytes

(b) Hollard - Total soil water content
] (¢) Chresard - Water not available to plants
(d) Echard - Water available to plants

8. &Cr gCrrCurGsriéd sramiu@Bb AHSMOHS Loy LI @I & &6 parnTaGa
urpuflwuwrseae GHUkHeus :
(1) GevemTiiLDm LOFLIE)&SeT (=) 9anamTLILDIS LDTLIGISEET
(@) AenQLafls wrugnsser (FF) Lmetmen euand LFLIGmISEET
Genes located close together on the same chromosome and inherited together are

represented as :
(a) linked genes (b) unlinked genes
frans genes

(c) syntenic genes (d)
9. farsmisg Hpps ep@liQuImeTTs QmUUS) :

(1) evaul_Liflen A, C oHmd E

(<=,) eveul_Lbler K

(@) eveulLflar D

(rF) eveul_LLbles B sl (HLIGUTHET HHID eeulLler D
Chillies are a good source of :

(a) Vitamin A, C and E

(b) Vitamin K

(¢) Vitamin D

(d) Vitamin B complex and Vitamin D
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10, &ipaiqye ot ol et arg  gpanm @muihNpe  wagh s Geiic b
@uatri_mid Hleney aenidlang wnpmis G ?

(1) Gaianydleor («9) el enenain
(@) Gamg.e (1) 1girdsend) air

From the following secondary metabolites which one is used as cardiac tonic ?
(@) Capsaicin (b)  Quinine

(c) Codeine (d) Digoxin

11. “ssuyselar sreear eran AWPEsLLGD pdlamss SreurLd :
(@) foCaiby () giord) (@) LrGsreL () EssaT
The medicinal plant commonly known as “King of Bitters” is :
(a) Nilavembu (b) Holy basil (c) Adathodai (d) Turmeric
12. Aageuenwé daiquw 2 W9l Lralorser ereval ?

(=) CrylAc wpmyb DMH-11 (<,) PHAs wopmid PHB

(@) GFP wpmd PGA () DMH Lopmid HT
The gro'up of degradable biopolymers are :

(a) CrylAc and DMH-11 (b) PHAs and PHB

(c) GFP and PGA (d) DMH and HT

- | [ §priys / Turn over
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13.

14,

15;

SPeumEIRTAIDMIET 6TE ETHS LLOEEREESE @amLuld sramiu@b eueropD
Seliugsl

(1) QuilQermevGLomigwib (=) LETHS S

(8) Qevantiys s (FF) LSl

From the following which one is the column of sterile tissue surrounded by the anther
lobe :

(a) periplasmodium (b) pollen chamber
(c) connective tissue (d) tapetum
QumrpSSIS

(1) @nE WdnSse @ 9:7

2) @riigly rUa&EsET (

(3) @OREG woOPSsE (

@) Slriy wrugmiéser (iv) 9:3:4
(=1) )-@v). 2)-@) @)-(), @)~
(<) (1)-( ) ( ) (i), (3)-(v), (4)-(3)
(@) (1)-(), 2)-(), 3)-(iid), (4)-(iv

(iv)
() ( 111)()(1V)()()()(1)
Match the following :

iii)

(1) Dominant epistasis @ 9:7
(2) Duplicate genes (i) 12:3:1
(3) Recessive epistasis i) 15:1

- (4) Complementary genes (iv) 9:3:4

(@)  (1)-v). (2)-0), @)-(i), (4)-(i)
(b)  (1)-(i), -(i), 3)-(iv), (4)-0)
(©  (O-0) @-), @)-(i). 4)-v)
(d) (@)-(i), 2)-0v), @)-i). @)-)

Ul Lrenfl greur Gsdsafier QewduBD Hleraeni 2 (Heurdseicie Spaienw .
werGanly ppe&E) TGl ?

(1) Le;le (<=y) GA, (@) Le (/) le

Among the pea plant cell which one has the ability to convert a precursor molecule

into an active form ?

(@) Le;le (b) GA4 (c) Le (d) le
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U@ - 11 /| PART - II

G GTWG}JGUJ@!LB S0 elemrEsEnéE WO oflenweléseyb. eSem ereim
24 -&@ sewTiqLILns eflenLweflGsaLb. 6x2=12

Note : Answer any six of the following. Question Number 24 is compulsory.
16. &HEYDIS SHeflS6T eramred eremmen ? THSTSET_HS &(55.

What is called Parthenocarpic fruits ? Give an example.
17. wruam @enL& ClFwed eremmed erevmanm ?

What is meant by Gene Interaction ?

A B A B
L] T

18.

(<) CuGe 2 drer LLEHD GPILELLLGD Gn&ECannsdlen cums wirg ?

(<) 216G0SECaHS e méaml g maraiear Hspeiamral (RF) asgpaan

£5615LD ?

B x A B
[T

A
T

() Which type of crossing over is mentioned in the above diagram ?

(b) Mention the percentage of Recombination Frequency (RF).

[ Slmlys / Turn over
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19. 2.u9f PSSmSSL - QUETLNIESELD.
Define - Bioremediation’.

20. oL sLIAQTOTESD GTEITMTE GTeamen 7

What is called Somatic Hybridization ?

21. wLTFDLHS el @b ST Bl LSDS osHpb pop W ?
TRESIEST B QUG TILMISEHELD. ’
in the removal 0

f cadmium from the contaminated soil ?

Which method is involved
Define with example.

20. ‘o uffsyar AL ruGuUrgih sOMED aulg UGS @ sramiiuBi’. -6
SITETSMSH s

‘Pyramid of biomass is always inverted in shape’ - State your explanation.

Hlq.GLDTEHE Aeng CpisHuder Lwanseners GMUEAHS.

Mention the benefits of seed treatment.

23.

24. wggseflan ApSSNE STyEmIOTEn Ceudlls QuImmeT TSl ? <cGaudIQuTpetian
Lwensmers GHLEHS.
Which one of the chemical substance is responsible for the'y
Mention the uses of that chemical substance.

ellow colour in turmeric ?

L@ - Il /PART - 111
sremeuGLEnID SHDI NTESEHES ol Gb eferwelldsey. el GT T
L wef&sa. 6x3=18
Question Number 33 is compulsory.

& Gg,ng‘)g)g,'a‘,]a}sm UL euanrhHal

GHIY :

33 -8(g SLLMULONE adlen

Note : Answer any six of the following.

25. SliHS warpslimulda GNEG Qeul_(b
Lrshismars GHUGGHS.

Draw the structure of T.S. of mature anther and label its parts.




28.

30.

31.

32,

33.
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@@rﬁ;@ Qarda wrugy Quppidrer wyerng.mreEHod srariu@D g
QUMES STUTHIS®AT aflomd s,

xplai » three kinds . . . WA
Explain the three kinds of plants that have recessive lethal gene in Antirrhinum sp.

Yeewrliy wHOID GnECsppsHpe @orlerar  GCaugumiigemer
SiLLcuamaTILHESIS.

Differentiate linkage and crossing over,

R sThE SLSHEE@T pEQIESES®S craflgréGeusng ComaiL@L UaTLGaT

wreneu ?
What are the features which requires to facilitate cloning in a vector ?

o L6 S(HYHOUTESSSlan LweUTHS6T wraney ?

Write the applications of Somatic Embryogenesis.

QautiL SI(HESME| GTTDITED GTETET ? SIFET (PG CUMBHNETE SIS,

What is Thermal Stratification ? Mention its three types.

waé@pfome warLasdar aaramisms Ayl sdfamyp auly s e

GgrenmieuGetn STyawrd Wrgl ?
Generally the pyramid of number in forest ecosystem looks spindle shape. State your

reasomn.

Qgrene e anrfludén (Remote Sensing) Ly LWeSeT wrene ?

Bring out specific uses of Remote Sensing.

Qewuperss Caial gpapuiern (e Wp&EIW ADEEDTS GO gCGaad

QM uemsEmIW SlaTEES.
Mention the three main types of artificial selection method and explain one of the

method.

[ Hlmuys / Turn over
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L@d - IV /PART -1V
5x5=25

(9@1:”—] ! O|EMEBISG| 69lGuTTEHS (6 LD SlepL_wefls&aLD.

Note : Answer all the questions.

34.

35.

36.

(1) @eovsaflenr LOCaum eumasmaT LILSGIL-6T a9euflGsayLd.

JENTN V|

(24) @i SemenLd Wapssd Hepana 566 TOEHEST L6 saufssalb.

(a) Explain the different types of Ovule with suitable diagram.
OR

(b) Ilustrate the Dominant Epistasis with a suitable example.
(1) tyeirar] gHg THOLD GTETMITE) GTIEM ? DISGE CUENSSHENET edeuf&&a|LD.
NNV
(<) 2@ Ml QumrgseT Qarerener erampred eremen ? Geulby WwHmD L&D
ffufe 2 ufl Quirgper ClemaTeneTs GNss eleufl&sa|b.
(a) What is Point Mutation ? Explain various types of Point Mutation.
OR

(b)) What do you mean by Biopiracy ? Explain Biopiracy in Neem and Basmati Rice.

(<=1) sreurs S euemiLidlen Lwerur@aemer auflapsli(HEs!s.
SV

(<) QsTHHIS STEUTEIEET GTanDITE eraan ? =igean L <ienoliided sramriiu@io

SEGUALOLILISET WTenel ?

(a) List out the applications of plant tissue culture.
OR

() What is ‘Epiphytes’ ? Bring out the morphological adaptation present in it.



37.

38.
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(=) Slvgey Qawie eopsafile odrar LOGD Flanasmend s
S|V

(<=t) @Camen Gopsien (palul efenemayser wWrene ?

() Bring out the different steps involved in Mechanism of Decomposition.

OR
(b) What are the effects of Ozone depletion ?

(1) uGaupy cllglorer melar elleng LITFETUIL (PEODSDETES GG
IRV
() Quibers L&AsQsreelufiaan eresedisd swmlium ? ccmsmg, SWIT@HLD
dlissSear samis.
(@) Mention the various modern methods of seed protection.
OR

(b) How will you prepare organic pesticide and how will you handle it ?

-00o0-



